T,=@2n+ 1)’ = (2n)'=(2n+1-20)[2n + 1)* + 2n + 1)2n + (2n)]
=12n" +6n+ 1
(i) Sum of n terms,

s,= Y12 +6n+1)=12- ”{“”6(2'” D, 6"(’;”) +n
n=1

=2n(n+1)2n+ 1)+ 3n(n+1)+n
=2rr(2n2+3n+ 1+ 3’ +3n+n
. =4n3+9n2+6n
(i) Sum of 10 terms, S, =4 x (10)* + 9 x (10)> + 6 X 10
= 4000 + 900 + 60 = 4960

x+3z
ly=——
77
= fy=x+3 (i)

Also, x, yand zare in G.P.
Therefore, y = and = x7*, where ‘¢ is the common ratio.

br=x+ 3P [Using (1]
3 dr=143 3 Yedrtl=0 3 Br-1)-1)=0

2 r== (Forr=1;x,y,zare not distinct)

tad | —

On subtracting Eq. (ii) from Eq. (i), we get
0=@2+1+3+5+7+..upto50 terms)- 5,
= tsg=2+{1+3+5+7+ ... upto 49 terms]

=2+ 4—29[2><1+(49—1)x2]=2+49(1 +48)=2+49"

(24
Volume = " xaxar=216cm’®

= a*=216=6" = a=6
Also, Surfacearea=2(3-a+a-ar+5-ar]=252
F r
2
= 2a2(1+r+I]=252=2><36(]+'—+’J=252
r r
= 20+7+PN=Tr = 2P-5r+2=0 = r-1D)r-2)=0
,—=l’2
2
1 6x2
Forr= 5:Leng1hr%=——>:——=12, Breadth=a = 6,
Heighl:ar:6xji:3

a
For r=2: Length = .

(V-3

=3, Breadth = a = 6, Height =ar=6 x2 =12




LetS=12+27+3%+ . +n’.

We have, n’ —(n— 1)’ =3n”> —=3n+ 1;

and by changing n inton — 1,
n—1P-r-2y=3n-1Y-3(n-1)+1;
(n-2Y - (n-3Y=3n-2-3(n-2)+1;

............

3} -2°=33-33+1;
22 -12=322-32+1;
12-02=3.12-3.1+1

Hence, by addition, .s .
=312 +2243%+ _ +n?)-3(1+2+3+...+n)+n
_3n(n+1) -

2

=38

= 3S=n3~n+-3—"—(';+—l)=n(n+l)(n—l+%]

_ n(n+1)(2n+1)
6 -

= \)

nt—m-1)=an® —6n*+4an—1;
n—1D - -2 =axz—1Y¥-6(n—-1YP+4n—1)—1;
n—-2Y - n—-3=a4n—-2Y —-6(n—-2Y+4(n—-2)—-1;

34_24=433_-632+43—1;
24 _1*=423-62%2+42—1;
1°—0*=4.1>—-6.12+4.1 — 1.

Hence, by addition,
n*=45—-6(1>+22+ ... +nH)+4(1 +2 + ... +n)—n;

AaS=n*+n+6(12+22+ ...+ n>)—a4(1+2+ ... +n)

n+n+nn+1)2n+ 1) 2n(n+ 1)

nn+1)n°—n+1+2n+1-2)

n(n + 1 )(n° + n);

nZ(n+1)>2 _{n(n+l)}2

4 - 2

[ |

S=




From the formula, a, = 12 + 22 + 32 + - +n2

_ n(n4+1)(2n+1)
an — — ¢

Sn=%[22§71k3+322’71k2+2k

1 n?(n+1)? 3.n(n+1)(2n+1) n(n+1)
= 2.2 -+ o + =51
= 204D [p(n + 1 + (2n + 1) + 1]
— 20D (2 {20 4 1 4 1)
_ n(n+1)(n®+3n+2)
o 12
_ n(n+1)?(nt+2)
o 12
R
2 __
Ans —ab i
a—+b T
2 Sab | T
by C and D
a-+b+2+v'ab = TtT
a-t+b—2+v'ab TR T
(vat+~vB)? _ mdn
(ﬁ_‘/’gjz TTL— TR
by C and D Y

Sq both side

Tre—+ ST —n?

=2 2

oo

Tre— TILS — 72

Giventhat, pthterm=¢ = a” '=¢ (i)
and ghterm=p =a’ '=p ..(ii)
On dividing Eq. (i) by Eq. (ii), we get

-

p-l =
ar = :1:,”'0:1:,:(3.)’ )
ar? p P P

On substituting the value of r in Eq. (i), we get
il 2l

a[l)p-q=q=a=q(£)p—t
14 q

(p+q)thterm, T,, =a -7 %!




